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MPM1DO0 Unit 3: Homework Quiz 3

1. Jashveer, Adam and Usman have summer jobs working on a farm. The following graphs show how
their distance from the barnyard changed over a twenty second period.
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(a) The table given below lists the values

(b) For each of the relations identify the following:

represented by the variablest, d,, d, and d, ( 5 /5
S mac+b
Variable What it Represents Jashveer Adam Usman
t Time in seconds (d, tot) | (dpt08) | (0, tof
d, Jashveer’s distance from the barnyard Slope 3 6’- -5 -
d, Adam’s distance from the barnyard Constant of
d, Usman’s distance from the barnyard \}‘o\ Variation 3 [7L -5 W
¢
. . . Rate of
Write equations relating... ( © /6) ST 3 W/S 4 m/S N
d, tot: d =3t+0 ‘// \ Vertical 5 O 100
Intercept 0 S
d,tot: dA = Yt v/ N Initial
nitia
d, tot: 0/ -SH+100 V/ vawe | ¥0m | Om 0y
(c) Complete the following table: ( & /6) (d) For each farm worker, write one or two
Moving away from sentences to describe his rg)tion over the
Name Speed S o twenty second period. ( /6)
Worker | Description of Motion
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and maved ﬁway-&am it a3 ik
Jashveer | A
A -Ft 2(?“3\9_ ?b was 'Kdam
Adam - rorm QYo v .
s Wa\/ - He began at the barnyard and_A
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